Unit 5 Assignment Graded Problem Set
The digital textbook can be a little complicated to read the correct problems.
We have created this reference to help!
· Section 4.1, page 176, problem 5.
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· Section 4.2, pages 183–184, problems 5, 9, and 11.
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· Section 4.3, page 198, problems 2, 15, 19, 21, and 27.
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· Appendix C, page 625, problems 2, 5, and 8.
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15. f| 6n® +2n° +4, g(n)=0(nlgn)
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27. Find a theta notation for the number of times the statement z =
i=2
while (i < n) {

+ 1is executed.
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2. Show how the segment in Example C.7 [ finds the largest element in the sequence

53=8, s3=4, s;4=
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5. Show how the function max1 of Example C.9 |C finds the largest of the numbers a
andc = 2.
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8. Write a function that returns the maximum of a and b.




image1.tmp
5. Write an algorithm that finds the second-smallest element among a, b, and c. Assume that
the values of a, b, and ¢ are distinct
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5. Trace Algorithm 4.2.3 |3 for the input 34, 20, 19, 5.
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9. Trace Algorithm 4.2.4 |0 for the input 34, 57, 72, 101, 135. Assume that the values of rand
are
rand(1,5) =2, rand(2,5) =5,
rand(3,5) =3, rand(4,5) = 4.
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11. Is it possible that Algorithm 4.2.4 |0 sorts the input 67, 32, 6, 89, 52 in increasing order? If
50, show possible values for rand that perform the sort. It not, prove that Algorithm 4.2.4 [T
cannot sort this input in increasing order.
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